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Paper / Subject Code: 42172 / BIG DATA ANALYTICS
(o ,42 \°\ P W/\M -

Sem— U\I —~ C&1R— Qﬁ & ’f,.__;;{}'—,. " ?f
Time: 03 Hours - e ?«‘* ‘ Max:ks 80

Note: 1. Question 1 is compulsory

D

2. Answer any three out of the remammg five- questlonsi | b
3. Assume any suitable data wherever requl:red and Justrfy the saﬁre

S “.:;' 7

Q! a) What is function of Map Tasks in: bhe Map Reduce fremﬁework? E,xplam thh “the [5]’;’?
help of an example. :

b) Demonstrate how business prqblems have been suCeessfully soTyed faster; cheaper [5]
and more effectively considering NoSQL Google s MapReduce case; study Alsp i

illustrate the business drwers and the ﬁndmgs ifrit. 2" 5 &.,
¢) Whyis HDES more smted for apphcatlons havmg large datasets and not when there [5"]
are small,_ ﬁﬂes‘? Elaerate , Eond oy
d) Explarg’the concept of bloom“ﬁlter w1th an example sy [5]
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Q2 2 Nanw the three ways that resourcescan nbe share’d between computer systems Name [10]"

b). - Write a. tnap reduee pseudo eode for word couﬁt problem:vApply map reduce [10]
' worklhg on the followmg d@cument A :

: “Thls is an qpple Apple is red in ceior ‘ :
Q3 a) __V.ASruppose the stream, 151 3,2, 1 2, 3 4,3 4 '2,3, L, Leth(x) 6x+ 1 modS [10]

elemeﬁ?ts in this stream @ \' %
b) Consxder the. followmg d?ata frame given belovi:' [10]

suhject class marks | SR -
<1 | 56 & G
2 Iv2 | B

3 1_| 48

45| 2 4 69

5 1..| 84

8 T 53

i .:‘Create a subset of subject less than4 by usnngsubset () function and demonstrate
- the outgut T
ii.  Create a subset where the sutq ect column 1s less than 3 and the class equals to 2
by using [1 brackets and demonstrate the output.

Q4 a)k What are the Core Hadoop components‘7 Explam in detail. [10]

b) Wrth a neat sketch expla:tn the archrtecture of the data-stream management system. [10]
Q5 a) Eetermme commumttes for the gWen social network graph using Girvan- Newman [10]
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Paper / Subject Code: 42172 / BIG DATA ANALYTICS ™

b) Sl e "'d on pro gmes of product? Elaborate witha ~ [10]




a. Performance Metrics for Classification
b. Principal Component Analysis for Dimension Reduction

C.

DBSCAN

15549
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Paper / Subject Code: 42171/ MACHINE LEARNING | \ 5
A | | & \v)
o Co- R-aa e
Som- V.- A il
Duration: 3hrs o~ /”"‘C'f[q" @Qﬂ . [Max Marks;sﬁ]
N.B.: (1) Question No 1 is Compulsory.
(2) Attempt any three questions outof the remaining five. -
(3) All questions carry equal marks.
(4) Assume suitable data, if required and sta’te it clearly
Q1. Solve any four from followmg [20} -
a. What are the issues in Machine 1earmng‘7 _ -
b. Explain Regression line, Scatter plot, Error in prediction: and Best fitting line.
c. Explain the concept-of margin and support vector.
d. Explain the dista_t,;éé metrics-used in clustering.
e. Explain Logistic"Regression
Q2. a. Explain the steps of developing Machine Learmng applications. [10}
b. Explam Linear regression along with an example. o]
Q3. A Create a decnslon tree using, G1m Index to classify following dataset. [10]
- Sr.No. | Income Age Own Car
11 VeryHigh | - Young : Yes .
& “High Medium Yes -
<3 Low .| Young No 5
4 High Medium ~ Yes
5 Very High Medium | Yes
G, Medium | Young ki Yes
i - High Old - Yes
-8 “Medium | Medium No
9 Low Medium No
10 Low - oud No
11 High Young Yes
dZ Medium Old No
b. Deééﬁbe Multiclass classiﬁéatiorx. [10]
Q4. a. Explam the: Random Forest algonthm in detail. [10]
b. Explam the different ways to combine the classifiers. - [10]
Qs. a. Compute the Linear Dlscmmmant pro}ectxon for the following two-dimensional [10]
dataset. X1=(x1, x2) = {(4,1), (2,4):(2,3), 3 6), (4,4)} and
' X2=(x1, x2) = {(9,10),(6,8), (9,5), (8,7), (10,8)}
». Explam EM algonthm i : [10]
Q6. Writq\d‘etailed noteon following! (Any ty‘vd) [20]
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2 apor 1 suuject Lode: 42175/ NATURAL LANGUAGE PROCESSING (DLOC - HI)

o () -

Time: 3 Hours S\éw’l»’ E\)/H o ki Qzﬂ Max. Marks: 80

N.B. (1) Question No. | is compulsory
(2) Assume suitable data if necessary
(3)Attempt any three questions from remaining questions

Q.1

o Q6 T

—

Q.2a)
Q.2b)

Q..‘.i a)

Q3b)
Q3¢

. Q.4 a)
Q.4 b)
Q4 o)
Q.S5a)
Q.S5b)

Q.6 a)
Q.6 b)

16298 .

Any Four 20[M]
Differentiate between Syntactic ambiguity and Lexical Ambiguity. [5M]
Define affixes. Explain the types of affixes. [SM]
Describe open class words and closed class words in English with examples. [SM]
What is rule base machine translation? [SM]

Explain with suitable example following relationships between word meanings.  [SM]
Homonymy, Polysemy, Synonymy, Antonymy
Explain perplexity of any language model. [5M]

Explain the role of FSA in morphological analysis?
Explain Different stage involved in NLP process with suitable example. [16M]

Consider the following corpus [SM]
<s> [ tell you to sleep and rest </s>
<s> I would like to sleep for an hour </s>
<s> Sleep helps one to relax </s>

List all possible bigrams. Compute conditional probabilities and predict

the next ord for the word “to”.

Explain Yarowsky bootstrapping approach of semi supervised learning [SM]
What is POS tagging? Discuss various challenges faced by POS tagging. [10M]
What are the limitations of Hidden Markov Model? [SM]
Explain the different steps in text processing for Information Retrieval [5M]
Compare top-down and bottom-up approach of parsing with example. [10M]

What do you mean by word sense disambiguation (WSD)? Discuss dictionary based  [10M]

approach for WSD.

Explain Hobbs algorithm for pronoun resolution. [10M]
Explain Text summarization in detail. [10M]
Explain Porter Stemming algorithm in detail [10M]
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Q.2

Q3

Q4

N.B. : (1) Question No 1 is Compulsory
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Duration : 3 Hours

)

Solve any four.
Compare and contrast Box lean Madel Vs Vecter Space Model

Specify the sxgmﬁcan{:e of User Relevance;fcedback i van IR system.
Explain inverted file'ir

Explain the proce§s ‘of Strugfured Text n
Mlustrate dlffer,e 1t types of"keywordfbased quenés
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